
SAP ABAP table BCKVWVORTR {BACKUP: Carryover totals - securities}

BCKVWVORTR

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANL [CHAR (13)]

RLDEPO [CHAR (10)]

VVDWPER [DATS (8)]

SBEWART [CHAR (4)]

KMNR [CHAR (13)]

SBWHR [CUKY (5)]

SNWHR [CUKY (5)]

T000

MANDT [CLNT (3)] BCKVWVORTR-MANDT = T000-MANDT 
{0,1}

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 BCKVWVORTR-BUKRS = T001-BUKRS 
{0,1}

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BCKVWVORTR-SBWHR = TCURC-WAERS 

1..N

{0,1}

 BCKVWVORTR-SNWHR = TCURC-WAERS 

1..N

{0,1}


